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INSTRUCTIONS (&Fs500)

Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.
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The Test Booklet contains 150 questions. Each question carries one mark.
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The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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The Test Booklet is printed in four (4) Series, viz. [A][B][C][D]. The Series, [A]or [Bor [C]or [D] is printed
on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet Series |A |or or
or in Part C on side 2 of the Answer Sheet by darkening the appropriate circle with Ball Point Pen.
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If you have not marked the Test Booklet Series at Part C of side 2 of the Answer Sheet or
marked in a way that it leads lo discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the malter.
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Each question is followed by 4 answer choices. Of these, you.have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Ball Point Pen to make heavy black
marks to fill the circle completely. Make no other stray marks.
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Mark Paper Code and Roll No. as given in the Hall Ticket with Ball Point Pen by darkening
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will lead to
invalidation of your Answer Sheet.
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How many letters of the English

alphabet (Capitals) appear same when

looked at in a mirror

(1 9

(2) 10
(3) 11
4) 12

March 1, 2008 was Saturday, which day
was it on March 1, 2002?

(1) Thursday
(2) Friday
(3) Saturday
(4) Sunday

The Number of triangles in the figure is

(1) 8
2y 9
3) 12
(4) 13

In military code, TARGET is code as
RATTEG, using the same code, BRIDGE
could be written as

(1) DGEBRI
(2) “TREDGE
(3) BRIEGD
(4) TRBEGD

(4)
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How many different ways can the letters
of the word ‘PRAISE’ be arranged?

(1 720

(2) 610
(3) 360
4) 210

A car covers the first 39 km of its
journey in 45 minutes and covers the
remaining 25 km in 35 minutes. What is
the average speed of the Car?

(1) 40 km/hr.
(2) 64 km/hr.
(3) 49 km/hr.
(4) 48 km/hr.

Ravi borrowed some money at the rate of
4 percent per annum for the first three
vears, at the rate of 8 percent per
annum. for the next two vears and at the

rate of 9 percent per annum for the

period beyond 5 years. If he pays a total
simple interest of Rs. 19,5650 at the end
of 7 years, how much money did he
borrow?

(1) Rs. 39,500

(2) Rs. 42,500

(3) Rs. 41,900

(4) Rs. 43,000

The positions of how many alphabets
will remain unchanged if each of the
alphabets in the word WORTHY is
arranged in alphabetical order from left
to right?

(1) one
(2) two
(3) three

(4) more than three






10.

11.

11 to

As figure ©

(
© is figure
o o0 g

should be to the figure

(1)

(2)

Which number will come at the end of
the series?

13, 23, 34, 46, 59, 73, .....7

1 79
(2) 92
3) 98
(4) 88

Directions : Study the following figure
carefully and answer the questions from
15. The triangle represents
Doctors. The circle represents players
and rectangle represents Artists.

30

How many Doctors are both Players and
Artists?

(1 4
(2) 11
(3) 3
(4) 8

6)

12,

13.

14.

16.
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How many Artists are players?

(1) 30
(2) 25
(3) 22
(4) 29

How many Artists are neither Players
nor Doctors?

(1y 25
(2) 29
(3) 22
(4) 30

How many Doctors are neither Players
nor Artists?

(1) 30
(2 8

3 27
(4) 22

How many Players are neither Artists
nor Doctors?

(1) 4
(2) 8
3 3
4) 25

Child : Toy : : Soldier :

(1) Gun
(2) Flowers
(3) Bed
(4)  Uniform
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24,

26.

217.

Where is the Head quarters of Animal
Welfare Board of India located?

(1) Ahammadabad

(2} Chennai

(3) Hpyderabad

(4) Kolkata

Where is the famous Virupaksha
Temple located?

(1 Bhg.drachalam

(2) Chidambaram

(3) Hampi

(4) Srikalahasthi

Who is the President of Progressive
Writers Association (PWA)?

(1) Al Sardar Jafri
(2) Namvar Singh

(3) Waheed Ahmed
(4) Kamala Prasad

In the context of the Indian defence,

‘what is Dhruv?

(1) Aircraft — Carrying worship
(2) Missile — Carrying sub-marine
(3)  Advanced light Helicopter

(4) Inter continental ballistic missile

(10)

28.

29.

' 30.
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Which one of the following was the first
fort constructed by the British in India?

(1} Fort William
(2)  Fort St. George
(3) Fort St. David
(4) Fort St. Angelo

In which one of the following cities is the
Global Automotive Research Centre

being set up?

(1) Chennai

(2) Hyderabad

(3) Pune

(4) Gulbargha

“MERCDSUR’ consists of group of

countries of

(1)  Afriea

(2) Asia

(3) Latin America
(4) South East Asia
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Which Indus Valley City a scale has | 35. Which was the first metal to be used by

been discovered? man?

(1) Chennudaro (1) Bronze

(2) Surkodede (2) Tin
(3) Iron

(3) Lothal

(4) Kalibangan (4)  Copper

36. Which of the following birds was

Who wrote the book Tehgig-a-Hind? worshipped by the Harappa People?
(1) Megasthenese (1) Pigeon

(2) Herodotus (2) Peacock

(3)  Amir Khusrav (3) Crow

(4) Alberuni (4) Eagle

37. The Indus Valley Civilisation specialised

The Total Number of Puranas is in

(1) 18 (1) Architecture
(2) 20 (2) Town planning
(3) 12 (3) Craftsmanship
(4) 16 (4)  All of these

- The earlist inseription on stone were in 38. Where does the term “Gothra” occur for

which language? the first time?

(1)  Sanskrit (1) Sama Veda

«(2) - Brahmi (2) Rig Veda

(3) Pali (3) Atharvana Veda

(4) Prakritha (4)  Yajur Veda
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39.

40.

41.

42,

Identify the place which is said to be the
birth place of Buddhism?

(1) Sarnath
(2) Kusinagara
(3) Lumbini

(4) Rajagriha

The sacred books of Jains are called

(1) Agamas
(2) Angas
(3) Parvas

(4) Upangas

The Mouryan Silver Coin was called

(1) Niskha
(2) Kakini
(3) Pana

(4) Shatamana

Who among the following rulers was
called Kavi Raja?

(1) Kumara Guptha — 1

(2) - Chandra Guptha -1

(3) Chandra Guptha Vikramaditya

(4) Samudraguptha

(14)

43.

44.

45.

46.
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Mohammad Gori was defeated by
Prithvi Raj Chowhan in the battle of

(1) Tarain
(2) Panipat
(3) Thaneswar

(4) Chandawar

Who was the founder of the City of Agra?

(1) Firuz Tughlaq

(2) Mohammad-Bin- Tughlaq
(3) Alla-Ud-din Khiljee

(4) Sikandar Lodi

Who of the following leaders of the
Bhakthi movement was  greatly
influenced by Islam?

(1) Ramanuja

(2) Nayanars

(3) Chaithanya

(4) Ramanadhan

The famous “Vijaya Sthambha’ at
chittoor was built by

(1) Rana Sangram Singh
(2) Rana Hanir
(3) Rana Ratan Singh

(4) Rana Kumbha
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61. Which of the following countries has
passed a land mark Health care bill?

(1) UK.

(2) USA.
(3) Australia
(4) India

(4) Spain

65. Which of the following companies has
got a Navrathna status?

(1) Bharti Airtel

(2) Rastriya Ispat Nigam
(3) Rennka Sugars

(4) Indian oil corporation

(20) GS/200

66, ————— Governor D. Konwar has
been honoured with Mother Teresa Life
time achievement Award 2009-10

(1)  Gujarath
(2) Maharastra

(3) Himachal Pradesh

(4)__Biha

70. According to world Meteorological
organisation ———— is the fifth
warmest year?

(1) 2007
(2) 2008
(3) 2009
(4) 2010

I~
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71.

72.

73.

74.

75.

(22)

Bollywood Actress has been
honoured with the Tejaswini Award?

(1) Lara Dutta

(2) Kareena Kapoor
(3) Kajol

(4) Vidya Balan

At which level Ministry of Home Affairs
will be established police complaints
authority?

(1) Union Territory
(2) District

(3) State

(4) Gram Panchayat

Who among the following journalists
was confered with a honarary degree of
Daoctor of Social Sciences by University
of Wolver Haupton University?

(1) Aroon Purie
(2) N.Ram
(3) Shekar Gupta

(4) Praveen Swami

Which of the following  State
Government has ordered for 4% Muslim
Quota by Supreme Court?

(1) Andhra Pradesh
(2) Uttar Pradesh
(3) Maharastra

(4) West Bengal

Which among the following is the third
generators nano-systems?

(1) Robotics

(2) Bioactive drugs
(3) Molecular devices
(4) Aerosols

76.

77.

78.

79.

80.
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The Longest running gurellia movement
in American continent is

(1)  Sandinista
(2) Zapatista
(3) Tacuara
(4) TFARC

With which country India has signed an
agreement to establish Hot line?

(1) China
(2) Bangladesh

(3) Nepal
(4) USA
Who is the Chairman of National

Integration Council of India?
(1) Dr. Manmohan Singh
(2) Sonia Gandhi

(3) Montek Singh Aluwalia
(4) Vijay L. Kelker

Which of the following Missiles will be
test fired by ISRO in next year with
range capacity of 5000 km?

(1) AgniV

(2) AgniVI
(3) AgnilV
(4)  Agnilll

After right of Education Act, which of
the following act has been introduced
soon by Central Government?

(1} Right to Health Act
(2) Right to Food Act
(3) Right of Shelter Act
(4) Both (1) and (2)






81.

82.

83.

84.

85.

Who received the lifetime achievement
award in fourth Asian Film Awards?

(1) Vivek Oberoy

(2)  Raj Kapoor

(3) Salman Khan

(4)  Amitabh Bachchan

Justice Venkata Gowda Gopal Gowda
has been appointed the Chief Justice of
High Court.

(1) Orissa

(2) Lucknow

(3) Punjab

(4) Madras

The Asian Banker has declared
the Best Retail Bank in India.

(1) HSBC Bank

(2) HDFC Bank

(3) Yes Bank

(4) ICICI Bank

American John Tate

has been awarded the Abel prize 2010.
(1) Mathematician

(2) Physician

(3) Musician

(4) Artist

Which Country will host the 2014 FIFA
world cup?

(1)  South Africa
(2) Canada

(3)  Brazil

(4) Spain

(24)

86.

87.

88.

89.

90.
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Double fault is the term used in which of

the following sports?
(1) Foot Ball

(2) Badminton

(3)  Golf

(4) Tennis

Which of the following rates are not
fixed by RBI?

(1) SLR
(2) PLR
(3) CRR

(4) Repo Rate

World Health day is observed on

(1) 7 April
(2) 15 March
(3) 7 March

(4) 18 April

Which of the following is not included in
the core sectors of Indian Economy?

(1) Transport
(2) Coal

(3) Steel

(4) Cement

Who is the Register General and Census
Commissioner of India?

(1) S.K. Chakra Varthy
(2) G.K. Pillai

(3) P. Chidambaram
(4) C. Chandramouli
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91.

92.

93.

94.

95.

Density of Air Cooler room temperature
is nearly

(1) 3.2m/m?
(2) 12 m/m?
(3) 120 gm/m?
(4) 1.2 m/m?

While lifting a bucket of water from a
well, we feel that the bucket?

(1) Becomes lighter above the surface
of water

(2) Becomes heavier above the surface
of water

(3) Loses density on coming out of the
water

(4) Has gained mass on coming out of
water

The flying of birds is a proof of Newton's
(1) 1%t Law

(2) 2nd Law

(3) 3dLaw

(4) Both 2™ and 3 Laws.

The hydraulic breaks wused in
automobiles is a direct application of

(1) Bernoulli theorem

(2) Toricellian theorem
(3) Pascal's law

(4)  Archemedis principles

Which waves are used in sonography?
(1)  Microwaves

(2) Infra-red rays

(3) Sound wave

(4) Ultrasonic waves

(286)

96.

97.

98.

100.

GS/200

In a Doctor's stethescope, the sound is
intensified because of

(1)  Resonance of sound

(2)  Constructive interference

(3) Principle of superposition of waves
(4)  Reflection of sound

If the cover of a book looks red when
seen through a piece of red glass, then
the cover will look like

(1) Red colour

(2)  White colour

(3) Green colour

(4)  Red or White colour

A man cannot see objects distinctly at a
distance less than one metre. He is
suffering from

(1) Hypermetropic
(2) Myopia

(3) Astigmatism
(4) Distortion

When the earth reaches its perihelion?
(1) It is nearest to the moon

(2) It is nearest to the sun

(3) It is nearest to the pluto

(4) Itisfarest from the sun

What did Martin cooper invent 35 years
ago?

(1) Computer

(2)  Mobile phone

(3) Internet

(4) None
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101. Which of the following has the same | 106. All of the following diseases are caused

atomic number and atomic weight? by virus except
(1) Hydrogen (1) Jaundice
(2)  Helium (2) Influenza
(3)  Oxygen (3) Typhoid

4) Nit
(4) itrogen (4)  Mumps

102. Petroleum is found in

107. The colour of Cow's milk is slightly

s rocks
(1) Igneous rocks yellowish due to the presence of

(2) Sedimentary rocks (1) Xanthophyll
(3) Metamorphic rocks (2) Riboflavin
(4) Mershy land (3) Ribulose

(4) Carolin

103. Out of the following chemicals, which
one is used in refrigerators for cooling | 108. The following bone is not found in man

purposes? (1)  Humerus
(1) Radon (2) Carpel
(2) Freon (3) Astrogalus
(3) Sodium (4) Atles
(4) Flourine _ N
109. AIDS affects
104. Milk is an example of (1) - Blood cells of human body
(1) Suspension (2) Immune system of human body
(2)  Gel (3)  Growth of human body
@) Emulsion (4)  All of the above
(4) Foam

110. Ants are social insects because
105. Venigar is an aqueous solution of (1)
(1) Oxalic acid
(2) Citric acid
(3)  Acetic acid (3) They have a layer

(4) Hydrochloric acid (4) They share food

They live in colonies

(2) They live in forests
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111.

115.

Which algae is used in control of
Malaria?

(1) Cladophora
(2) Nitella
(3) Chlorella

(4)  All of these

The disease with high levels of uric acid
in the blood is characteristic of

(1) Orthiritis

(2) Gout

(3)  Rhumatism

(4) Rheumatie heart

(30)

(1)
(2)
(3)
(4)

120. Rain

(1
(2)
(3)
(4)

GS/200

116. Chicken Pox is caused by

Varicella virus
Adeno virus
Bacteriophage Tz
S.V. 40 virus

increase the
to some extent.

water helps to

Phosphorus contents
Nitrogen contents
Calcium contents

Potassium contents

4 i e R R
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121,

122,

123.

124.

The study of physical geography in the
past geological ages is included in

(1) Bio-geography

(2) Historical geography

(3) Pa-liography
{4) All of these
The North Pole is always in the right

(1) From September 23 to March 21
(2)
(3)

From March 21 to September 23
From June 21 to December 22

(4) OnJune 21

Which of the following is known as
‘Island of Precipitation’

(1) Fault mountains
(2) Fold mountains
Down mountains

(3)

(4) Black mountains

The velocity of winds is related to

(1) Revolution of the earth
(2) Rotation of the earth
(3) Témpéfature

(4)

Pressure gradient

(32)

125.

126.

127.

128.

GS/200

Which of the following sub-races belong
to Mongolio?

(1) Bantu
(2)  Eskimo
(3) Nordic
(4) Alpine

Agriculture probably began in about

(1) 100 BC

(2) 2000 BC
(3) 4000 BC
(4) 7000 BC

The Sakhelin region is famous for its
(1) Oildrilling

(2) Industrialisation
(3) Diamonds and Gold

(4) Iron and Gold

Kiel Canal joins

(1) Baltic Sea to Mediterranian Sea
{2) Red Sea to Mediterranian Sea
(3) North Sea to Black Sea

(4) None of these
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(34) GS/200

129. Which of the following Indian islands | 133. Canal irrigation is most important in
lies between India and Srilanka? North India because the

(1) Elephanta

(2)  Nicobar
(3) Rameswaram (2)  Level of underground water is high

(1) Soil is porous

sh vBga ge, T

B e T

(2) Chotta Ranjan

131. Which of the following states has very
little alluvial soil? (3)  Perambur

(1) Bihar (4) Kolkata
(2) Madhya Pradesh
(3) Tamil Nadu

(4) Punjab
135. What is Obra?

(1) Copper project in Rajasthan
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[B]

136. The

139.

air  transport industry was

Nationalised in the year
(1)
(2)
(3)
(4)

1950
1953
1947
1948

Which state has the largest areas under
tank irrigation?

(1)
(2)
(3)

(4)

Tamil Nadu
Orissa
West Bengal
Karnataka

(36)

GS/200

140. Who prepars topographical maps of India?

143.

(1) Geological survey of India
(2)  Archaeological survey of India
(3) Survey of India

(4) Geographical survey of India

Which one of the fol]owing rivers does
not originate in India?

(1) Beas
(2) Cheenab
(3) Ravi

(4) Sutlej

£
i
:
:
3
i
2




s

r

ﬁ}gﬁﬁ%ﬁ.ﬂ@?ﬁaﬂ&ﬂﬁ t&-}";—"‘“—'ﬁ."m £

T raagan

-

=YEE

22

R TR

a

]



144,

145.

146.

Which one of the following is not
essentially a species of the Himalayan
Vegetation?

(1) Juniper
(2) Mahagony
(3) Silver fir
(4) Spruce

Which of the following hills are found
Eastern Ghats and the
Western Ghats meet?

where the

(1)  Aravalli hills
(2) Cardamom hills
(3) Nilgiri hills

(4) Sheveray hills

In India how many states share the

coast line?

(1) 7
(2) 8
3y 9
(4) 10

(38)

147.

148,

149.

150.

GS/200

Where are Tapovan and Vishnugruha
hydroelectric projects located?

(1) Madhya Pradesh
(2)  Uttar Pradesh
(3) Uttara Khand
(4) Rajasthan

Dalbergia species is associated with
which one of the following?

(1)

Cashew nut

(2) Coffee
(3) Tea
(4) Rosewood

In which state is the Gurusikher Peak
located?

(1) Rajasthan

(2) Gujarath

(3) Madhya Pradesh
(4) Maharastra

Which one of the following is cultivated
by transplanting seedlings?

(1) Maize
(2) Sorghum
(3) Onion
(4) Soyabean
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(40)

ROUGH WORK
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2906 -1 B 288
1)2 2)2 3)3 4)4 5)1 6)4 7)2 8)4 9)4 10)4 11)3
12)3 13)4 14)3 15)4 16)1 17)2 18)1 19)3
20)3 21)3 22)1 23)1 24)2 25)3 26)1 27)3
28)2 29)1 30)3 31)1 32)3 33)1 34)4 35)4
36)2 37)2 38)4 39)3 40)2 41)3 42)4 43)1
44)4 45)3 46)4 47)4 48)4 49)1 50)3 51)3
52)2 53)2 54)4 55)3 56)3 57)4 58)3 59)2
60)2 61)2 62)1 63)1 64)1 65)4 66)4 67)2
68)1 69)3 70)3 71)4 72)1 73)2 74)1 75)3
76)4 77)1 78)1 79)1 80)2 81)4 82)1 83)2
84)1 85)3 86)4 87)2 88)1 89)4 90)4 91)2
92)2 93)3 94)3 95)4 96)4 97)4 98)2 99)2
100)2 101)1 102)2 103)2 104)3 105)3 106)3
107)2 108)3 109)2 110)1 111)2 112)2 113)3
114)2 115)2 116)1 117)3 118)4 119)1 120)2
121)1 122)2 123)1 124)4 125)2 126)3 127)1
128)3 129)3 130)4 131)2 132)1 133)3 134)3
1352 136)2 137)4 138)4 139)3 140)3 141)3 142)1
143)2 144)2 145)3 146)3 147)3 148)3 149)1 150)3




